9. (p/hatNbAEBAeY M) (BREBRAENL R NREAI L BA S, AT
RH)

Cigae
/b B B (TRE)

RNFFEREY], R CBURFRBAEEE Nl R RSB M) (M (2020) 46 5)
HIRLE, AAFZSIN AT ImAE X b RER 2 NRBUR CRA AR A4 SGE S b1 BT
B A (T H A4 B0 SRIGTEZ), TR At T AL 4 A AT S BOR SR A /b Ak, A
FAplb CRERA R R/ NEE . T AR R N RS .

L A B EY T B I B A (B4R, & sl CRIE SO A
HIFTIEATYD 5 AREEAY ) PSR R TREA IR ] (A FR) , Mok N G147 A, Bk
WANN_T657 J376, B REUN_4740 JFioc, JETRAE CRAL Y, R Ab OB A
o

2./ (hrfIa ), &+ CRIE S AT B TR AT YD+ AR AR g/ (VA RRD
MWNR SN, BN/ Tioe, B R88A_/ Jix, JeT_/ CpRdll, AN,
WOEANYD

CLEAll, A& T RN S, AFAEE BB N R, thAfFE SR
AV ST AN E - NI .
Al xt BRI SEE T T, WA R, KA

M A FR (CAZEE) i US|
H 1

E: 1 AL AR. BN BB AURR E—FEHE, o b — SRR

AV ATANRAR
2. XA FRITIZE (Gt EXF/MEIRARI T IRER) , BT “BIL” .
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B

2l o N Sl it ol 7l

i

T Z R 2R s RE kit INEY A
eI NN 1 |4 BN (V) JiJt Y=20000 500<<Y<<20000 50<Y<<500 Y<<50
Mk 51 (X) A X=1000 300<<X<<1000 20<X<<300 X<<20
ok *
BN (V) JiTt Y=40000 2000<Y<<40000 300<<Y<<2000 Y<<300
" BN (V) JiTt Y=80000 6000=<<Y<<80000 300<<Y<<6000 Y<<300
k.
B RE(Z) JiTt Z=80000 5000<Z<<80000 300<<Z<<5000 Z<<300
Mol A 5 (X) A X=200 20<X<200 5<X<20 X<5
fiya4
BN (V) JiTt Y=40000 5000<Y<<40000 1000<Y<<5000 Y<<1000
Mk 51 (X) A X=300 50<<X<<300 10<X<<50 X<10
T
EDIN (V) JiTt Y=20000 500<Y<<20000 100<<Y<<500 Y<<100
Ml A 53 (X) A X=1000_#F” 300 TRQQ00 20=<X<<300 X<<20
ASEBH * —
FAEA () | T YBS@@M@U@\ 200<Y<3000 | Y<200
Mk A 51 (X) A x{zo <x<ﬁ‘ ‘ 20<X<<100 X<<20
Ol x gm!
BN (V) JiTt YB\O Y 100<Y<<1000 Y<<100
A
MR | A x=Npb, |~ 300=xgs [odg 20<X<300 X<20
MBI — ¢ NG
ENHN (Y) Jigt Y>3oo&\ 2000<Y 586000 100<Y<<2000 Y<<100
Mk A 51 (X) A X=300 100<<X<<300 10<<X<<100 X<10
(EX 4
BN (V) JiTt Y=10000 2000<Y<<10000 100<<Y<<2000 Y<<100
Mk A 51 (X) A X=300 100<<X<<300 10<<X<<100 X<10
R
BN (V) JiTt Y=10000 2000<Y<<10000 100<<Y<<2000 Y<<100
Mol A 5 (X) A X=2000 100<<X<<2000 10<X<<100 X<<10
5 BT * —
BN (Y) JiTt Y=100000 1000=<<Y<<100000 100<<Y<<1000 Y<<100
NN ML 5 (X) A X=300 100=<X<<300 10=<X<100 X<10
RN EHARIRSS — —
BN (Y) JiJt Y=10000 1000<<Y<< 10000 50<Y<<1000 Y<50
o BN (Y) JiJt Y=200000 1000=<<Y<<200000 100<Y<<1000 Y<<100
s H eI R A — —
BT EA(7) Yabn 7210000 5000<Z<<10000 2000<<7<5000 7<<2000
. VN FNZYY) N X=1000 300<X<<1000 100=<X<<300 X<100
syNA= g — —
BN (V) apn Y=5000 1000<<Y<<5000 500<<Y<<1000 Y<<500
Mk 51 (X) A X=300 100<<X<<300 10<<X<<100 X<10
L% A 45 R 45k — —
BT EA(7) JiTt 7=120000 8000<<Z<<120000 100<Z<<8000 7<100
A AT AT * Mk 51 (X) A X=300 100<<X<<300 10<<X<<100 X<10
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VLR

LR A, Hp BN /N B A b 201 5] B 3 2 BT Z0 48 A 10 R PR, A 0 R I — A% R Al A
I35 /2 BT H 8 b A i — T Rp Ay,

2. R HAT WS I DL (B REFATI 22K (GB/T4754-2017) SA#E. iy 1) i
AT A A, Hp, T FEERE O, &, B, #77. R KA = FHE R
s AZdiEinasEE gz, Kz, s, i, £XNiEm
izl HEiE, AR Ehl; elaFEEH e, KIReH, Bk
T, BV WMAESERS G, PAMEmMEM el E e AmbafmaE.
P AL PR AL R AR SS, ELRIXANAE QA 55 s AR R Z1 B AT b A 45 R} 22 80 78 A0 HOR iRk 5%
v, AKF FREE AT A SL i B, R RS . R ARSI, #he TR, ik,
EE MG R, CLL B = e R 55, Hodt s =k 4 T“%ﬁﬁﬁ%#%ﬁﬁm

3. MR FE AR AIRAT Si it bl oA dE. (1) ML AR, RIEHRMIA A%, ¥

A RN N EL, R 2T N AU, SUUAL & N BN =257 /AN ﬁ

WL, _ERE R AT PR LA I AF 1 A S = = NN (=R T R
KHFEEWSBTAN; R FHAE FE) ) ERIAR S RN RS
B AR B AR E s e MRy N SIANRE s HAb KRR E
FEMSWNRAT, RAE I FE 5 K% B A .
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